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O0|SEHE AMlEE 15,000,000 = 14! 15,000
O0lS& ¢EXSE 1Y 100,000& * 50 5,000
307 212t0| & 10,000 10,000 0]
02 DIZHBAAIE E X 10,000 10,000 0
O0lE&AEa ACITEN 2H el
12,500,000& = 80% 10,000
2EA O/SEHE SIS U S 30,000 30,000 0
307 QI2t0| & 30,000 30,000 0
04 CIZ2tSHALALS B X 30,000 30,000 0
Oo0|seHE storsu 3l 37,500,000 * 80% 30,000
DI2FEEY AIEZ O K& 431,524 477,500 N45,976
& 26,192
Al 405,332
QI2HEH X2 AE 29 188, 140 201,500 A 13,360
307 PI2H0| & 188,140 201,500 13,360
02 QItH A ALY 2 100,200 111,560 A 11,360
OMNMOls2sZa=s48AMY 64,500,000& * 80% 51,600
OHIZHADII2E =AY
32,625,000 * 80% 26,100
OXNKUFFO &5 - A
17,500,000 = 80% 14,000
OgZUEsNad & FAUdEES
4,375,000 * 80% 3,500
OOISHZA0Y U LUXY OfA&2 oz
S 6,250,000 * 80% 5,000
03 QIZIHHEHESIHIEX 69,240 69, 240 0
OMOIS2s2dEANXSE 29H XL
32,600,000 = 14! 32,600




SEIE-T-E SN HEXED
O ANEEO 20 € UXESFL3
SH9l: BILET AIFE O X (B9 ®R)
- _ — d =
RRA B BN NRAY - BES 0l &k o4 e HlnE2
OHIZAHAII2SZEAEAS 234 X
24,000,000& * 14l 24,000
Ost=TREAULEAXZ 24H X
12,640,000& * 14 12,640
04 DI2HHALALSE E X 18,700 20,700 A2,000
OS&tolg=ete SL&08 MsUa
5,250,000& * 80% 4,200
O=ESL AlYstorSta 3,750,000 = 80% 3,000
OseAlls XA 10,000,000& * 80% 8,000
OS&tolg = =23ge
4,375,000& = 80% 3,500
QIZLEH sS4 X3 51,000 87,000 236,000
301 et A=z 26,000 27,000 A 1,000
09 AL HIE &= 26,000 27,000 A 1,000
OMOISXIEX nsH X
100,000& * 100 10,000
OMOISXNEXR d=20UH3 XA
4,000,000& = 14 4,000
OtHtzAaII2s =z XN
4,000,000& = 14 4,000
ORl=sg 8= ZUa X
4,000,000& = 14 4,000
OE&4 23tM XA 4,000,000 * 14 4,000
307 glz2tol & 25,000 60,000 A 35,000
02 It HAHEE 20,000 60,000 A 40,000
ORIFHE SN X
25,000,000& * 80% 20,000
03 BIAHNHE2IHIEL 5,000 0 5,000
ORFHE YSANHS 2N
5,000,000& = 14 5,000
S AFE X =l 4,000 4,000 0
301 et d s 4,000 4,000 0
09 SALAHIEA S 4,000 4,000 0
OQEALE R =l 4,000,000 = 14l 4,000
HETOoH A XNHEH 22 41,000 50,000 A 9,000
307 glz2+ol & 41,000 50,000 A 9,000
02 It A AMHEE 30,000 39,000 A9,000
OH X LA K& EE AHE XA
37,500,000& = 80% 30,000
03 QIAHNHE2IHIEE 11,000 11,000 0
OHXLHXNFEE 2EXE
11,000,000& = 14 11,000
MOISXNEX X &sts X& 32,384 37,000 N4,616




SEIE-T-E SN HEXED
Mo ANEEO B YL XA
Sol: BIEH AR CER-ED
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
< 16,192
Al 16,192
301 LEtE L= 32,384 37,000 AN4,616
< 16,192
Al 16,192
02 ZetaLdei3 32,384 37,000 N4,616
OMOIEXE X AHEs = X
32,384,000 * 14 32,384
< 16,192
Al 16,192
S8HE AMEA 2N 66,000 42,000 24,000
307 g1+l & 66,000 42,000 24,000
04 DI2ZHHALALSE E X 66,000 42,000 24,000
OSHS A A X 82,500,000&  80% 66,000
MOtES &AL 22X & 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
OMOIEXIE X 808 el X&
12,500,000& * 80% 10,000
OHE AR A AIS XA 2H 5,000 10,000 A5,000
307 glz2tol & 5,000 10,000 25,000
04 QIZFHALAIH E = 5,000 10,000 25,000
O A& HAlEl K& 6,250,000& * 80% 5,000
ot a2l AL AR 14,000 16,000 A 2,000
307 glz2+0l & 14,000 16,000 A2,000
04 QIZFHALAIH B = 14,000 16,000 A 2,000
ootEdadst dAF A& 17,500,000& = 80% 14,000
6.258% X&E XA 20,000 20,000 0
< 10,000
Al 10,000
307 21201 A 20,000 20,000 0
< 10,000
Al 10,000
04 DIZFHALALSE E X 20,000 20,000 0
ONREAY 6.25 MEXJ ALY
20,000,000& = 14 20,000
< 10,000
Al 10,000
QIRLXl S &2 st 885,820 1,508,900 A 623,080
FOURXAEH X 2 29 660,900 638, 100 22,800
201 Let24E] 400,500 400,500 0
01 At 22l 8l 366,300 366,300 0
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SA-E-B(H) - NEAY - BYS ol &k o8 %@ﬁ
Oderxaul 366,300
o FOIXXAEH S|
1,100,0008 * 1904 * 128 250,800
oFOIXXRIEE =&
20,0002 * 2524 * 1904 » 122 114,000
o2tE HMAIZE F¢ 1,500,000 * 14! 1,500
02 E2=2=2%H| 34,200 34,200
OF0XXAHEH B22244|
150,000 = 19004 = 12€ 34,200
301 Bt A= 110,400 87,600
09 HAIAHI EAZ 32,000 32,000
O AlAIHI B A2 32,000
o FOIXXME dA=8F =D}
1,000,000& = 19JH £ 19,000
oFOXXAY WEEII Yl
100,000& = 100 10,000
oS0t AAWSE EHIHE)
100,000 * 30™H 3,000
12 JIEtE A= 78,400 55,600
OFQUXXEEH XSS A AH|
15,000& = 202 * 1900 A = 128 68,400
OFXXNEEH 2 HI} 10,000,000& = 1A 10,000
401 Al HI L 2 0HHI 80,000 80,000
01 Al&HI 80,000 80,000
OF0XXAH 242
20,000,000 * 44 80,000
405 XH&HF S HI 70,000 70,000
01 XAt =2 F S HI 70,000 70,000
OFoXXNEH &2 70,000,000 * 14! 70,000
FO XXM YES 2HAH 18,000 12,500
307 2Iz2t0| & 18,000 12,500
04 DIZFSHAIAIRI 2 = 18,000 12,500
OF0IXXHEH SESI 22,500,000 * 80% 18,000
OITIXRE s 2N 20,000 20,000
307 gizto| A 20,000 20,000
04 QIZ2tSHALALS B = 20,000 20,000
OF0XIXNFY F3aA5s 25,000,000€ * 80% 20,000
SUYH X 171,200 253,300
301 et A= 171,200 163, 300
04 Xt HHHAH XS 171,200 163, 300
OXNsSegdEUE o2t A
33,0009 ~ 49 x 21JHCH = 300 75,600
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2.2 HE B (EH) - NEAY - BES %Eﬁ HR=2
CcUEEH E3 F¢ 5,000,000& = 1Al 5,000
cnNEs2Y9 49 HH 100,000 * 103 1,000
Oas8 & X2EHs = 69,000
oA AIE 2,500,000& = 103 25,000
oQEtNEH (YAB) 30,000,000 = 14 30,000
oHAAS XA 400,000& = 153 6,000
cnsgyd 8 F¢ 5,000,000 = 14! 5,000
cWESY o HH 100,000 = 303 3,000
202 044l 120,000 120,000
01 2L Y| 20,000 20,000
A2 s il 200,000& = 100™ 20,000
04 =M st dl 100,000 100,000
OXJAA22G oA A2 100,000,000& * 14 100,000
orE sy 469,800 13,400
DMOEESHA 235} 85,300 68,900
201 LBt Y| 50,600 48,600
01 AP 22| d| 50,600 48,600
Or&EAE U3 uNF 50,600
oA AIR2ERY 300,000 * 43| 1,200
cDE2Y B2 49 HH
100,000& = 60 * 43| 2,400
o NG| oA Y HIE
10,000,000& = 14 10,000
oXEHALY AR 25,000,000 = 14! 25,000
o ELLAME 2,500,000& = 43| 10,000
oCs PPEF S92 U BT HA
2,000,000& = 1A 2,000
202 o4 | 4,400 4,400
01 =2 LH bl 4,400 4,400
OO0l THA Al Z =X H|
20,0008 *~ 24 = 1103 4,400
207 &I 2l 16,000 16,000
01 S| 16,000 16,000
O#EFANEA MSGLI2LIHE 249
16,000,000& = 1A 16,000
301 et A= 10,800 A 3,600
09 HAIAHI EAZ 10,800 A 3,600
O AlAIHI B A2 10,800
oESIDLIHY 2% 30,0008 * 40¥H x 43 4,800
oFEANFEIIH 2Y
30,000 = 50 = 43| 6,000
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SA-EB S (H) - MRAY - B 0 4t 04 il
ORI/ HA22 X HESIHH| (24])
800,000& * 73H 58,400
SIANAHHI X & 18,880,961 20,039,231
303 ZA& 2 3,994,344 4,239,831
02 A= 3,994,344 4,239,831
O & 9120%(SE =)
2,880,000& + 2539 * 172.5% 1,256,904
020%60%(AS =) 2,880,0002 » 502 * 125% 1,807,200
O60%~90%(BS 2) 2,880,000& = 380YH * 85% 930,240
304 A3 RE3S 14,886,617 15,799,400
01 Ha2RE=2 12,485,092 13,368, 182
odzZ2eg=2 68,693,000,000& * 8.75% 6,010,638
(@)=Foi=: 68,693,000,000& * 2.301% 1,580,626
OEX+22Y2 68,693,000,000& * 6.9322% 4,761,937
OMatEaRsZ2 68,693,000,000& = 0.192% 131,891
02 20AHLLES 2,401,525 2,431,218
O=0HLLEZ2 68,693,000,000& * 3.23% 2,218,784
ORYEE= 2,218,784,000& * 7.38% 163,747
ONLRZ2A 18LED
1,266,250,000& * 1.5% 18,994
| 2 Z& I 241,485 240,495
Jl23Hl 241,485 240,495
201 et A | 39,340 39,340
01 AFR2 22l dl 39,340 39,340
Oget=gH| 21,100
oHHJANLRE S HI 500,000& = 12& 6,000
o S M & H| 42l Hl 300,000& * 203 6,000
o J|Et=2H| 9,100,000 * 14 9,100
OZ &l 18,240
oll=eas A
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oxEY THYHM 29 A
8,000& * 2¥ x 103 * 128 1,920
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01 2LHOHI 16,650 16,650
OJleg+3#u | 90,000& = 37 = 53] 16,650
203 YR =&lY| 185,495 184,505
01 J| 222G R=AH| 138,600 138,600
OJINASHI =X (AE) 79,200,0008 * 14! 79,200
OJN2A2HIIRFX(FEAF)
56,100,000& * 14 56,100
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o= d3= M THEHE Dt
SRS off & IHE ofle
SRl MY ol else 2 CERED
- _ — d =
SN P SAGEH) - HRAY - BYS 0l &k o4 e HlnE2
oXMANA HMIIZ 50,000& = 2004 * 128 1,200
cMHSHEEEAAE HII2
10,0003 = QA * 128 1,080
OA& & Hls X bl 37,300
oMitotMat e al FHl FXl2eldl
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